Ewcayoyn otig Apyés s Emomung tov H'Y

AXKHXEIX XTIX AOMEL ENMIAOTHL

AYLEIX

AAYOpI80G Tuxaiol
Euavioe "Awoe apiBuovs”
AildBaoce A, B
Av A mod2 =0 KAIB mod2 =0 1o1e
X <--- (A +B) /2
aANIdG
X <—A-B
Téhog_av
Eugavioe " To amotéecpa sivar”, X
Téhog Tuxaiol

AANyopI18H0G IToiXNUA
Nd <--- 0,05
Eugavioe "Awoe Toco"
Aiapace MO0
Av MNOIO > 147 101¢
OOPOL <--- TP *MNOXO
aANIdG
®OPOI <--0
Téhog_av
T MOXIO <---TOXO - POPOL
Eupavioe "' O popog civarl', POPOX
Eugavioe " To TeAIkO TTooO cival’, T_MNMOXO0
TéNog LToixNua

AAYOpIBHOG AiCEKTO
Eupavioe "Acwoe étog”
AildBaoce ETOX
Av ETOX >= 1900 KAI ETOX <= 2100 ToTe
Av ETOI mod 4 =0 16T1¢
Av ETOXI mod 100 =0 1oT1¢
Av ETOX mod 400 = 0 tote
Eppavioe " AioekTo"



Téhog_av
aAAI®dG
Eupavioe " Aioekto"
Téhog_av
Téhog_av
aAAI®dG
Eupavioe "' AGBog"
Téhog_av
Téhog AicekTO

AAyOpI8uog VC
Euavioe "Acwoe NuépeS”
AidBaoce H
Av H <=3 10T1¢
X<-1,5
AaAAI®G
X <--1,5+0,6 *(H-3)
Téhog_av
Eupavioe " H xpéwon sivar’, X, "€"
Téhog VC

AANyopi18pog ERSoudada
Eygavioe "Acwoe nuépa"
AidBaoce H
Av H=1T10T¢

Eupavioe "Kupiakn"
aAAIG_av H = 2 101¢
Eupavioe "Acvutépa”
aANig_av H = 3 161¢
Eupavioe "Tpitn"
aAAIG_av H = 4 101¢
Epgavioe '"Tetaptn"
aAAig_av H = 5 1o1¢
Eupavioe "Méummn”
aANIdG_av H = 6 10T1¢
Epavioe '"Tlapaokevn)”
aANIg_av H = 7 101¢
Eupavioe "Yapparto”
AANIRG_
Epavioe "Acv LTTAPXE AvTioTOIXN pEPA"
Téhog_av
Téhog ERSoudida



AAYOpI8uog ESicwon
Epavioe "Acwoe oLVTEAEOTEG AB,IM
AldBace A, B, T
Av A =0 TOT¢

AvB =0 T1oTe

Avl =0 1ot
Eupavioe " Tavtotnta"
aAAI®dG
Eugavioe " ASvvarn"
Téhog_av
aAAI®dG

X<-—- -T/B

Eupavioe " Pia 10", X

Téhog_av
aAAI®dG

A<-—-BA2-4*A*T

Av A >0 1oTe

X1 <— (-B+T_P(A))/(2* A)
X2 <— (-B-T_P(A) )/(2* A)
Eupavioe " Pilec Ta", X1,"kal”, X2
al\ig_av A =0 1oTe
X<---B/(2*A)
Eupavioe " PiCa 10", X
aAAI®G
Eupavioe " ASvvarn'
Téhog_av
Tédog ECicwon

AAyopi18pog Kivntn
Eugavioe "Awoe povadeg”
AiGBace M
Av M >0 TOT1E I Aev To {nTdEl N AoKNoN
Av M <= 100 10T1e
X<---0,02*M
alNiGg_av M <= 170 1oTe
X <--0,02*100 +0,015* (M -100)
aAAI®G
X <--0,02*100+0,015*70+ 0,01 * (M -170)
Téhog_av
Téhog_av
Euygavioe " H xpéwon eival’, X, "€"
Téhog KivnTh



AAYOpI80G HAIKia
Epgavioe "Acwoe nuépa yévvnong”
AildBaoce HI
Eupavioe "Acwoe uryva yévvnong”
Aiapaoce M1
Eupavioe "Acwoe £Tog yévvnonc”
Aiapaoce El
Eupavioe "Awoe onuepivA Nuépa "
Aiapaoe H2
Euavioe "Awoe onUEPIVO pRva "
Aiapaoce M2
Epavioe "Acwoe onuepivo £Tog "
Aiapaoce E2
Av H1 > H2 Ttore
H3 <---H2-H1+ 30
Av M1 >= M2 10T1¢
M3 <-—- M2 -M1 + 11
E3 <—-E2-El-1
aAAIdG
M3 <--—- M2 - M1 -1
E3 <—--E2-EI
Téhog_av
aAAIdG
H3 <-—- H2 - H1
Av M1 >= M2 10T1¢
M3 <---M2-MT + 12
E3 <—E2-El-1
aAAI®G
M3 <--—- M2 - M1
E3 <--—-E2-E]l
Téhog_av
Téhog_av
Eugavioe " Eical’, E3, "etoov kal", M3, "unvav kai ", H3, "nuepaov”
Téhog HAkia



